Math 10 100% Quiz
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Name

Name the coefficient(s):

Name the variable(s):

Name the constant(s):

F o™

{3z +5y) — (-2 + 3x)
3rbSy +2 -3

3
Bz +5y) — (2y + =)

'3‘;<+ij -—23 — %

b+ 2y — 2 br— 2y -5

0 and 2 and - X ond A -S
Simplify: Simplify: Simplify:
3x—54+2x-3 * — 3z + 5z — 3x° 10a — 36 — 10a 4 4b

2

5% -8 2% +2x I
Add: Add: Add:
(3z +5) + (7 - 23) (8 + 5z) + (T — 2z) Bz +5y +7) + (Ty — 2+ 3

X +(2 Z s+ O b 2y +S
Subtract: Subtract: Subtract:

N N\ "

(3z + 5y +10) — (2y — T)
?)X‘f'stj +(O mZS +

é; % 4—(03 +20

(bx“—wxj —~20x

b‘(f s 2 x 33 3')“”3:] +(7
Expand: Expand: Expand:
AT _/;=-\""'"“_\ = i - g
2(3x + 5y + 10) 2x(3x — 5y — 10) —x(3z — 10)

'3)(1 + [0 x




Expand:
(z —4)(3z — 10)

B[O 25 + 4D

3x " -22x +Ho

Expand:
{z —3)(z +10)

'L ‘
X +(0x -3x -30o

X s Tx-30

Expand:
(2z — 3)(z +1)
2x? 4t 2x-3x~3

2xt-x-3

Expand:
(z —4)(z® +z+5)

X3 X U x Tt -2

_—
X -3x"¢ x-20

Expand:
(z —3)(z?® + 2z —4)

X 2x " tx-3x i bx+(z

l; 7
X -l -0y + (2

Expand:
(z +5)(22% +2-2)

2%y x 7 -2x HHOx*+ Sk

253 15® 4 By (o

L]

Expand:
(z+2P(x+2D

Vi, T, ST,

Nt

Expand:
(@ +5)F we+s)

- -
X «Sx+$3 25

L —_—
)( "‘/O)( +25

Expand:
@z — 1) Zx-1)

Ux"-2x 25|

U™ -t +

Expand:

{z — 1)'{)«'\3 (x - >

(xw}(x"«lx -l + 1)
(x - (x -2 «0)

Xo -2k S = T2 |

X gnzgxlafS)c-(

Expand:
(22 — 1) Zx -1)(2¢—1)

(2x ) (Hx™ - 2x-201)
2O Seboe +1)
Bx® - Bx*r 2x~bx FHx -

8x3vl 2x oy - |

—

Expand:
@z — 5% 2% -5V Z-5)

Gﬁ X Z{ox <i0x +25 ) (24 =)

(2% Uk ™= 200 v25]

© )‘;' Lfo)‘)’i’S‘Ox ~U

:
Bx -0Ox*e(sOx -kE

)

e I
P X 00X -5




Factor: Factor: Factor:

25xy z — 157> 6z + 9zy — 1242y 624> + Oyt — 212%y°
_ 2 e ‘ 3 - .

5)@(5’2 33> 3x( 3y 4x3> 3><\t$ (2)« +3\\j 7x)

Factor: Factor: Factor:

2522 — 362 1622 — o2 4922 — 4

(6% by Xb‘xkbﬁ)

(4%-3 5(%«1—3)

(Tx-2Y(Tx+2)

Factor: Factor: Factor:

22 — 3z —28 2% 42z — 80 2 410z + 24
(x-7) (1) ( x+10)(x—8) (x+ud(x+6 )
Factor: Factor: Factor:

4 +12z 4+ 9 9z + 6z + 1 2522 — 20z + 4
(2+3¥ (3x+* (5x 2




-
o 5

Factor: Factor: Factor:
5e® — 12z + 4 2% —z —15 Tr® — 13 — 2
DMl x -3 -2
" B o ) o]
-2 é‘J e +S _,H;,u]tig ! P )J;‘l =
(Sx-2Xx-2) (2x+¥S)(x-3) (x5 (x-2)
Factor fully: Factor fully: Factor fully:
(z —5) —12 2 —17z + 16 :.':%—16 B 5
et YN K
(A-D(A ) (- D0cee)d) 001 | (x 25 (x-2)( X Z+tt)
<=5k 1 )(x -5
(X6 X x )
Factor fully: Factor fully: Factor fully:
2% — 92 4+ 4 227 — 83" +8 22° —8
S g ox" % 2(x"-4)
o i kgx 2 2 (-4 +u )
| _, . = Yy
-\ '\Xpi—\'q"[ A (3)( ’L(> ”

(Zx O x L"Lf>
(2x O x +25(x~2)

What value(s) of k make this
trinomial factorable?

What value(s) of k make this
trinomial factorable?

What value(s) of k make this
trinomial factorable?

25 + kz — 3 622 + kx — 2 22+ kxr+24
b k I S -1 " — 24 <
| ) ‘-7—"9 g ) —12 . l o Lg -25
e T e o o 14
1 = ) 2. -k =Gl €y e )

2= 26 —( | (v, -1l
G 3 ; 'y (o, -0

-g‘q -3 _8

4« b

Y -b



